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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the meaning and definition of business 

environment. Describe the significance and limitations 

of business environment. 

O;kolkf;d i;kZoj.k dk vFkZ ,oa ifjHkk”kk le>kb;sA 

O;kolkf;d i;kZoj.k ds egRo ,oa lhekvksa dk o.kZu dhft,A 

2. Define globalisation. Explain the measures taken by 

government of India for globalisation of the Indian 

economy. 

oS’ohdj.k dks ifjHkkf”kr dhft,A Hkkjrh; vFkZO;oLFkk ds 

oS’ohdj.k ds fy, Hkkjr ljdkj }kjk fd;s x, mik;ksa dh 

O;k[;k dhft,A 

3. What is economic planning ? Explain the objectives 

and priorities of economic planning in India. 

vkfFkZd fu;kstu D;k gS \ Hkkjr esa vkfFkZd fu;kstu ds 

mís’;ksa ,oa izkFkfedrkvksa dks le>kb;sA 

4. „Profit motive and social responsibility are 

contradictory.‟ Comment on this statement. Explain 

the case for and against social responsibility of 

business. 

^ykHk mís’; ,oa lkekftd mŸkjnkf;Ro ijLij fojks/kh gSaA* 

bl dFku ij fVIi.kh dhft,A O;olk; ds lkekftd 

mŸkjnkf;Ro ds i{k vkSj foi{k esa rdZ dks le>kb;sA 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. State the main features of Companies Act, 1956. 

dEiuh vf/kfu;e] 1956 dh eq[; fo’ks”krk,¡ crkb;sA 

2. Distinguish between FERA and FEMA. 

^Qsjk* ,oa ^Qsek* esa vUrj Li”V dhft,A 

3. Explain the technological environment in India. 

Hkkjr esa rduhdh i;kZoj.k dh O;k[;k dhft,A 

4. State the main indicators of Globalisation. 

oS’ohdj.k ds eq[; ladsrdksa dks crkb;sA 

5. Discuss India‟s policy towards FDI. 

,Q- Mh- vkbZ- ds izfr Hkkjr dh uhfr dks le>kb;sA 

6. Write a short note on Balance of Payment situation in 

post reform period. 

mŸkj&lq/kkj dky esa Hkqxrku larqyu dh n’kk ij ,d laf{kIr 

fVIi.kh fyf[k,A 
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7. What are the main problems of small scale industries 

in India ? 

Hkkjr esa y?kq m|ksxksa dh izeq[k leL;k,¡ D;k gSa \ 

8. Critically examine the present Industrial policy of 

Government of India. 

Hkkjr ljdkj dh orZeku vkS|ksfxd uhfr dk vkykspukRed 

ijh{k.k dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate the correct option : 

lgh fodYi dk pquko dhft, % 

1. Which of the following elements does not come in 

micro environment ? 

(a) Customer 

(b) Suppliers 

(c) Intermediaries 

(d) Political and legal environment 
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fuEukafdr esa ls dkSu&lk rRo lw{e okrkoj.k esa lfEefyr 

ugha gksrk gS \ 

¼v½ miHkksDrk 

¼c½ vkiwfrZdrkZ 

¼l½ e/;LFk 

¼n½ jktuhfrd ,oa fof/kd okrkoj.k 

2. The Industries (Development and Regulation) Act 

came into force in : 

(a) 1951 

(b) 1952 

(c) 1948 

(d) 1980 

m|ksx ¼fodkl ,oa fu;eu½ vf/kfu;e fuEu esa ls fdl o”kZ 

ykxw fd;k x;k \ 

¼v½ 1951  

¼c½ 1952  

¼l½ 1948  

¼n½ 1980  

3. „Growth with social justice and equality‟ was the focus 

of : 

(a) 9th Five Year Plan 

(b) 10th Five Year Plan 

(c) 11th Five Year Plan 

(d) None of these 
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^lkekftd U;k; ,oa lekurk ds lkFk laòf)* ij ladsUnz.k 

fuEu esa ls fdl ;kstuk esa fd;k x;k Fkk \ 

¼v½ uoha iapo”khZ; ;kstuk esa 

¼c½ nloha iapo”khZ; ;kstuk esa 

¼l½ X;kjgoha iapo”khZ; ;kstuk esa 

¼n½ buesa ls dksbZ ugha 

4. Policy relating to government revenue and expenditure 

is called : 

(a) Monetary policy 

(b) Fiscal policy 

(c) Economic policy 

(d) Industrial policy 

ljdkjh vk; ,oa O;; ls lEcfU/kr uhfr fuEu esa ls D;k 

dgykrh gS \ 

¼v½ ekSfnzd uhfr 

¼c½ jktdks”kh; uhfr 

¼l½ vkfFkZd uhfr 

¼n½ vkS|ksfxd uhfr 

5. A market for Lending and Borrowing long-term funds 

in called : 

(a) Money Market 

(b) Capital Market 

(c) Forex Market 

(d) None of these 
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nh?kZdkyhu dks”kksa dks m/kkj nsus ,oa _.k ysus okys cktkj dks 

fuEu esa ls D;k dgk tkrk gS \ 

¼v½ eqnzk cktkj 

¼c½ iw¡th cktkj 

¼l½ QkWjsDl cktkj 

¼n½ buesa ls dksbZ ugha 

Write True or False against the following : 

fuEufyf[kr ds lkeus lR; vFkok vlR; fyf[k, % 

6. Primary market creates securities which are later 

traded in the secondary market. 

izkFkfed cktkj izfrHkwfr;ksa dks l`ftr djrk gS] ftUgsa ckn esa 

f}rh;d cktkj esa fofue; fd;k tkrk gSA 

7. India is now following the open door policy towards 

MNCs. 

Hkkjr orZeku esa cgqjk”Vªh; fuxeksa ¼,e- ,u- lh-½ ds izfr [kqys 

}kj dh uhfr viuk jgk gSA 

8. Articles of Association is the Charter or Constitution of 

a Company. 

ik”kZn vUrfuZ;e ,d dEiuh dk pkVZj vFkok lafo/kku gksrk 

gSA 
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9. India joined WTO in 1995 as founder member. 

Hkkjr MCY;w- Vh- vks- esa 1995 esa ,d laLFkkid lnL; ds :i 

esa lfEefyr gqvkA 

10. India achieved full current account convertibility of 

Rupee. 

Hkkjr us pkyw [kkrs esa #i;s dh iw.kZ ifjorZu’khyrk izkIr dj 

yh gSA 
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